Name: Date:
Teacher: Class:
DAMS601

All four operations on one sheet

Why did the teacher wear sunglasses? Because the
students were so bright!

.. 9646 2 61,718 32 2901 4 93,842 > 1,187 6 58,289
+ 9,903 + 77,980 + 56,431 + 54,316 + 35,282 + 35,682
730,795 8 54059 9 91,727 10 81,153 1. 8,188 12 83,267
— 19,163 — 48,372 — 60,660 - 62,693 — 7,990 — 44,537
13. 7 14. 9 15. 8 16. 3 17. 2 18. 2
x 2 x 5 x 4 x 3 x 4 x 2
19. 20. 21. 22. 23. 24,
4)36 3)12 3)36 5)30 4)32 4)28
25..94,899 26 24657 ?%- 85,189 28 3,508 2°- 66,555 30 13,682
+ 65,097 + 93,392 + 63,383 + 84,131 + 92,991 + 79,901
sl. 79,244 32 28,887 3 48,178 34 73,300 35 54,266 36 80,959
— 54,923 - 9,121 — 44,600 — 46,463 — 4,566 — 76,072
37. 11 38. 12 39. 10 40. 6 41. 7 42. 11
x 4 x 3 x 3 x 3 x 4 x 3
43. 44, 45, 46. 47. 48.
3)21 5)25 2)14 5)20 5)10 3)33

© Facilitators Ferriswheel

Score:



Answer Key Date:
Teacher: Class:
DAMS601

students were so bright!

All four operations on one sheet

Why did the teacher wear sunglasses? Because the

1. 9,646 2. 61,718 3 2901 #+ 03,842 > 1,187 ¢ 58,289
+ 9,903 + 77,980 + 56,431 + 54,316 + 35,282 + 35,682
19,549 139,698 59,332 148,158 36,469 93,971
7. 30,795 & 54,059 9 91,727 1. 81,153 11. 8,188 12. 83,267
- 19,163 — 48,372 — 60,660 — 62,693 — 7,990 — 44,537
11,632 5,687 31,067 18,460 198 38,730
13. 7 14. 9 5. 8 6. 3 7. 92 8. 92
x 2 x 5 x 4 x 3 x 4 x 2
14 45 32 9 8 4
19. 9 20. 4 21. 12 22. 6 23. 8 24, 7
4536 3512 3536 5530 4532 4528
25..04,899 26 24657 27~ 85,189 28 3,508 2 66,555 30 13,682
+ 65,097 + 93,392 + 63,383 + 84,131 + 92,991 + 79,901
159,996 118,049 148,572 87,639 159,546 93,583
3. 79,244 32 28,887 33. 48,178 34 73,300 3% 54,266 36. 80,959
— 54923 - 9,121 — 44,600 — 46,463 — 4,566 — 76,072
24,321 19,766 3,578 26,837 49,700 4 887
37. 11 38. 12 39. 10 4. @ 4. 7 42. 11
x 4 x 3 x 3 x 3 x 4 x 3
44 36 30 18 28 33
43. 7 44, 5 45, 7 46. 4 47. 2 48. 11
3)21 5)25 2)14 5)20 5)10 3)33

© Facilitators Ferriswheel

Score:



